Chapter 7 BLM Answers

BLM 7-1 Prerequisite Skills
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BLM 7-2 Section 7.1 Extra Practice

1. y=0.5"and y = 4" are exponential since they are
functions in the form y = ¢*, where c is a constant
greater than 0 and x is a variable.

2. No. The constant is not a value greater than zero,
so the graph is not a continuous decreasing or
increasing function.
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x-intercept: does not exist, y-intercept: 1;
function is increasing;

domain: {x | x € R}, range: {y |y >0,y € R};
y=0
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x-intercept: does not exist, y-intercept: 1;
function is decreasing;

domain: {x|x € R}, range: {y |y >0,y € R};
y=0

4. a) 7 T A
SL )
N
45
A
2=y
R %
y
b) 0; 1
c) X ‘A\w ’4, A
SRR i
VAN
TR\ LY
EURR\WN/
-\
. 4 _40 B 4 X
y

The graphs have the same y-intercept: y = 1. These graphs
are the horizontal reflections of the graphs in part a).
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d) graph f(#) = 15 on the same axes as the original
graph and find the intersection point; 35.5 days

9. a) 1.7; the population is increasing by 70%, so
100% + 70%
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BLM 7-3 Section 7.2 Extra Practice

1.a)A b)B ¢)E d)H
2.2)C b)A ¢)D d)B

(continued)

4. a) a = 4: vertical stretch by a factor of 4, 5= 1: no
change, 4 = 0: no change, k = 6: translation 6 units up
b) a = —1: reflection over the x-axis, » = 1: no change,
h =4: translation 4 units right, k£ = 0: no change

¢)a= % : vertical stretch by a factor of % ,b=4:

horizontal stretch by a factor of % , h=09: translation 9

units right, £ = —8: translation § units down
d) a= % : vertical stretch by a factor of % , b= —g :

reflection over the y-axis and horizontal stretch by a
factor of % , h =—2: translation 2 units left, £ = % :

translation 1.75 units up
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7. a) domain: {x |x € R}, range: {y |y <2,y € R};
vy = 2; x-intercept = (-1, 0), y-intercept (0, —4)

b) domain: {x |x € R}, range: {y |y > -4,y € R};

y =—4; x-intercept (-0.75, 0), y-intercept (0, —3.5)

¢) domain: {x | x € R}, range: {y |y >0,y € R};

v = 0; x-intercept does not exist, y-intercept (0, 2)
8.a)a=05b=-2,h=-4,k=7

b) vertical stretch by a factor of 0.5, a reflection over

. . 1
the y-axis, a horizontal stretch by a factor of 502

horizontal translation 4 units left, and a vertical
translation 7 units up

¢) (0, 1) becomes (-4, 7.5), (1, 3) becomes (—4.5, 8.5),
(2, 9) becomes (-5, 11.5)
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BLM 7-4 Section 7.3 Extra Practice
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LM 7-6 Chapter 7 Test
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6. a) V'=3000(1.026)*
b) ¥V =2500(1.01)"

¢) V' =8000(1.005)"*
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7. 6.55 years
8. a) $4264.41
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b) vertical stretch by a factor of 2 about the x-axis,
and a vertical translation down 3

¢) y=27": range is y > 0, horizontal asymptote is y = 0;
y=2(27") — 3: range is y > —3, horizontal asymptote
isy=-3

d) When x = 400, y =27 = 0 and

y=2(27%% -3 = -3, both of which correspond to
each function's horizontal asympote. These values of
x are so large that the y-values are extremely close to
the same value as the horizontal asymptote. However,
the calculator rounds off the value.

12.2) g(x)=2""*+2

b) horizontal translation right 4, vertical translation up 2
¢)x=1.09

13.a) A= 1(220) , where A is the number of bacteria,
and # is the time, in minutes.

b) 200 min

c) 4 722 366 kg

14. a) P =2200(0.9)", where n = years since 1990 and
P =population

b) 93

¢) 36 years after 1990: 2026
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